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QUESTION 1

What is the valid shard range for an object DN? 

A. 1-64 

B. 1-16 

C. 0-15 

D. 1-32 

Correct Answer: D 

 

QUESTION 2

Which option describes the correct sequence to discover an ESX server in the fabric without a blade switch or multiple
Layer 2 hops? 

A. The leaf sends LLDP/CDP to the ESX, the ESX sends parsed UDP/CDP information to the vCenter, the AP1C
receives LLDP/CDP information from the vCenter, and the APIC downloads the policy for VMs behind the ESX to the
leaf node. 

B. The APIC downloads the policy for VMs behind ESX to the leaf node, the leaf sends LLDP/CCP to the ESX, the ESX
sends parsed LLDP/CDP information to the vCenter, and the APIC receives LLDP/CDP information from the vCenter. 

C. The ESX sends parsed LLDP/CDP information to the vCenter, the leaf sends LLDP/CCP to the ESX, the APIC
downloads the policy for VMs behind the ESX to the leaf node, and the APIC receives LLDP/ CDP information from the
vCenter. 

D. The ARC receives LLDP/CDP information from the vCenter, the APIC downloads policy for VMs behind ESX to the
leaf node, the leaf sends LLDP/CCP to the ESX, and the ESX sends parsed LLDP/CDP information to the vCenter. 

Correct Answer: B 

 

QUESTION 3

Where does the VIP for the vPC come from? 

A. assigned by Cisco ARC from the management tenant IP space. 

B. allocated from the vPC domain number assigned to the vPC peers. 

C. DHCP from the infra TEP pool leaf portion. 

D. DHCP from the infra TEP pool VIP portion. 

Correct Answer: D 
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QUESTION 4

In the Cisco Nexus 9508 chassis, how many Broadcom T2 ASICs are on the fabric module? 

A. 4 

B. 1 

C. 2 

D. 0 

Correct Answer: A 

 

QUESTION 5

Wh.ch two statements about the Cisco ACl distributed gateway are true? (Choose two.) 

A. Endpoints attached to a leaf always find their gateway locally on the attached leaf. 

B. The routing function of the SVl is performed on the leaf in the Northstar ASIC. 

C. Endpoint mobility is restricted to a specific port on a specific leaf. 

D. The routing function of the SVl is performed on the leaf in the Trident 2 Broadcom ASIC. 

E. Gateway is represented as a SVl. 

Correct Answer: BD 
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